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Time Allowed: 20 Minutes SECTION-A Marks : 15
The factors of x2-9x+20=0 are ........
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The common solution of the guadratic
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The solution setof [x| +5=21is ......
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IfA={3,45}B=1{6,7}and R={(3,6), : A function from . -
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8 J1-Cos?0= ... Osinzo+1 (Osino (O coso O
, None of these
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The line which intersects the circle on ;

10 tWo points is called........ Secant O Chord O Diameter O No.n/e of these
----%M%L”/ C}’} {,Ll’éu!/ Lfl}ﬁb'b.{l Cb FL ) /3 o L};’/ o
Any cyclic parallelogramisa .......... O Square O Rectangle O Rhombus O None of these
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Solution set of the equation
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A point dividing the line segment into : : ;
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15 éta_nge_nt is a line touching a circle Two points Three points One point O No point
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